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General Instructions : 
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(318) 
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1. ------------

2. ------------

1. Candidate must write his/her Roll Number on the first page of the Question Paper. 

2. Please check the Question Paper to verify that the total pages and total number of questions 
contained in the Question Paper are the same as those printed ·on the top of the first page. Also 
check to see that the questions are in sequential order. 

3. Making any identification mark in the Answer-Book or writing Roll Number anywhere other 
than the specified places will lead to disqualification of the candidate. 

4. Write your Question Paper Code No. 68/MAY/3, Set -lID on the Answer-Book. 

5. (a) The Question Paper is in English/Hindi medium only. However, if you wish, you can answer 
in any one of the languages listed below : 

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, 
Odia, Gujarati, Konkani, M~puri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi. 

You are required to indicate the language you have chosen to answer in the box provided in 
the Answer-Book. 

(b) If you choose to write the answer in the language other than Hindi and English, the 
responsibility for any errors/mistakes in understanding the question will be yours only. 
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ECON01\1ICS 
~ 
(318) 

Time : 3 Hours] 

t1W1:3~] 

[Maximum Marks: 100 

[~ :100 

Note: (i) 

(ii) 
(iii) 
(iv) 

(v) 

(i) 

(ii) 

(iii) 

(iv) 

~ . 11 
This question paper~sists of 5o questions m a · 
All questions are co!ulsory. 
Marks are given ag t each question. 
Section A consistS:,Sr 
(a) Q. Nos. 1 to 20 ..:.'Multiple Choice type q~estion~ (MCQs) carrying 1 mark 

each. Select and write the most appropnate option out of the four options 
given in each of these questions. . . 

(b) Q. Nos. 21 to 35 - Objective type questions carrymg 2 marks each (with 
2 sub-parts of 1 mark each). Attempt these questions as per the 
instructions given for each of the Q. Nos. 21 to 35. 

Section B consists of 
(a) Q. Nos. 36 to 48,- Very Short Answer type questions carrying 2 marks 

each to be answ~d in the range of 30 to 50 words. 
(b) Q. Nos. 43 to 4&,f) Short Answer type questions carrying 4 marks each to 

be answered in fli'e range of 50 to 80 words. 
(c) Q. Nos. 49 and ii> - Long Answer type questions carrying 6 marks each 

to be answered ~he range of 80 to 120 words. 

~ W.Pf?Tij~ 50 ~ I -:> 

~m~tl 
mmt 3tcfi~mlH~7nl;t I 
~A"q" 

(a) m ~ 1 ~ 20 - iit§Rlcti~~ mt m (MCQ) t, m 1 3tcfi cfiT ~ 1 r-r 
~ij mij~1n1: ~ ~ij ~~~~~ :afu:~ 1 

(b) m~ 21 ~ ~-•mtmt m 2 ~cfiTt (2 ~tWl 
fflcfiT 13Tc½l) ~~ 21 ~ 35 ijmmij~7n1: R4~11·H-IR f{~t 

-:> 
"3ffi:~I ('V) 

(v) ~B"q" ~ 
(a) m~ 36 ~ 42-- 31fcn,~~~tmt m 2 ~cfiT~ ~~ 

~~~30'80~~1 
(b) m~43~48-~~mtmtm4~cfiT~~~~ 

~~50~80~!1 
(c) m~ 49 ~ 50 - cftcf ~VcliRtmt m 6 31cfifcfiT~ ~~~ 

~~80~120~!1 
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Note/~: 

(1) Answers of all questions are to be gi;;~he Answer-Book given to you. 
~ ffl t "3ffi: ~ <ft 11{ ~-~ l~(g I 

(2) 15 minutes time has bee~ allotte; 
2

~0 read this Question Paper. The 
Question Paper will be distributed~ ; 5 p.m. From 2:15 p.m. to 2:30 p.m., 
the students will read the QuestI0;. aper only and will not write any 
answer on the Answer-Book during t 18 Period. 
~ IB-"<f;f ~ ~ t ~ 15 ~ cfiT ~ ~ TRrr t I m-"<f;f cfiT fc«Rur ~ -ij-
2: 15 ~~~ I ~2:15 ~~z:3o ~d'cfiffl3r~m-"<f;fcfil~3lr{~ 

~ t ~ ~ "3ffi:-4~cfil \{Ccf1){ ~ -;rgf ~ I . 
\:I 

1. Financial year is : 

SECTION A 
'{slUs A 

(A) Same as calendar year 
(B) From 1st March to 2gth or 29th February 

(C) 1st April to 31st March 
(D) None of the above 

~ ~ maT t : 
(A) ~~tw:rH 
(B) 1 lfFr~28m29~<fcfi 

(C) 1 ~~ 31 lfFr 

·(D) ~-ij-~~-;ref 
\:I 

2. Price under perfect competition is determined by : 
(A) Firm 

(B) Industry 

( C) Government 
(D) None of the above 

"CJU1 Sl@<flfila I -q-~ ~ WT f;imftr~ ~ t : 
"' 
(A) q;ifwr 
(B) m-wr 
(C) 
(D) 

~WT 

344cM it~~~ 
\:I 

1 

1 
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3. Gross value added-Net value added is equal to: 1 
(A) Net factor income from abroad 

(B) Net indirect truces 

(C) Consumption of fixed capital 

(D) Subsidies Lil 
M 

~1lrf~-f.wr~~~~~ 
(A) fcremt~f.wrmtr.r~ ~ 

I.fl 

(B) Hc@~cfi\ r--.. 
:tt: 

(C) W.R~cfil~ \ 
"' 

(D) ~{-161lldl 

4. In which market is the product not homogenous? 1 

(A) Perfect competition (B) Monopoly 

(C) Oligopoly (U}n Both (B) and (C) 

~ ~-q ~ ~ ;mmcrr i? M 
\.0 

tf01 Sl@41rldl 
M 
~ (A) (B?j" 

"' I..!') 

(C) ~<:.-4-ll~i::f>I( (DJ.' (B) ~ (C) ~ 
% 

5. Capital expenditure : 1 

(A) increases profits 

(B) creates balanced budget 

(C) creates an asset or reduces a liability 

(D) is incurred by State Governments 

q,;iflJ,a~: L/1 
"' M 
(A) ~~i "° M 

~fo fcia ~ eR'@T i v 
(B) I.{) 

~ I',. 
(C) qfHi4@ cfiT Rlifur ~ i m ~ cfitf Pi 
(D) ~ {,I (cf, IU IDU Ffl<IT ~ i 
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6. 
. . . ual to: 1 

Investment multiplier 1s eq 

1 (B) 1 -(A) - APS 
APC 

1 (D) 1 
(C) --- MPS MPC 

1mr~~mmi: 
1 (B) 1 

(A) 
APC t mt 
_l_t (D) 1 

(C) MPS t MPC 

7. A perfectly elastic supply curve is : 1 

(A) Parallel to OX-axis 

(B) Parallel to OY-axis 
(C) Steeply sloped 
(D) Slightly sloped 

1J!ti qofa~, ct)=qGI{ ~~: 
c-._ c-._ 

(A) OX-3la.1~ Bq1.iiacmrt 

(B) OY-3la.1~ Bq1.iiacmrt 

(C) ~~~~t 

(D) ~cfilf~~~t 

8. There is interdependence of firms under : 1 

(A) Perteet competition 

(B) Oligopoly 

(C) Monopolistic competition 

(D) None of the above 

·q;Jllcft ~-GW 1R ~mart : 
c-._ 

(A) "CfOl 51@41rldl -q-
c-._ 

(B) ~-q-
(C) ~ 51@4lrldl -q-
(D) 3q4cffi -q-~ ~ ~ 

~ 
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9. 

10. 

11. 

12. 

A firm cannot influence the market price under : 
(A) perfect competition (B) monopoly 

(C) oligopoly (D) monopolistic competition 

~~~~cfi)-~~cfit~: 

(A) ~ 51fa4'r'la111" (B) ~11-
(C) ~ 11- (D) ~ n+51fa"r-rr4'+-h\r'l-ar ~ 

I[ 

When a demand curve shifts to the l~~' it shows : 
(A) 'Decrease' in demand t fB) 'Increase' in demand 

(C) 'Extension' of demand 1\D) 'Contraction' of demand 

~ 1IT1T cistl eWff w f{gei:fidl t, m ~ ~t : 
(A) 1IT1T lf '~' ·\B) 1IT1T 11- '~' 
( C) 1IT1T cfiT •fcffiffi' (D) 1WT cfiT 'tj 1>+.1-1 ' 

Which of the following is an exception to the law of demand ? 

(A) Status symbol goods (B) Giffen goods 

(C) Necessities items (D) All of the above 

R~Rlf{ga *~*-m1IT1TtW11rcnr ~~? 
(A) 51@6dl~t+.icfi ~ ~ ~B) 

(C) ~,q~llcfidl cf@t~ (~Rq1ifa1iQ;~D) 
Ln 

frtm-1~ 
344cffl ~ 

'v 

Which of the following are Revenue 'fleceipts ? 
(A) Recovery ofloans ~ B) Interest 

(C) Disinvestment (D) All of the above 

R~Rlf{ga ir~*-zj,-mm-i? 
?ftUIT-tl"cffiffi (A) ~ 

(C) 

(B) 

(D) 

1 

1 

1 

1 

13. X and Y are said to be substitute gopAs if a ri~e in the price of X results in : 1 

(A) increase in demand ofY f' ~B) increase in expenditure ofX 

(C) fall in expenditure ofY ~c~D) No change 

X ~ Y ~ ~ cfitR•mft ~ ~ X ~ ~ ~ ~ : 
-v ul . 

(A) Y -t1" ~ ~ i t (B) X cnT oll1f ~ i . I . 
( C) Y cnT oll1f ~ i 4- (D) ~ q f{q J-1 ;ref m 
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al good? 
1 

14. • · a fin 
Which of the folloWUlg 15 aJllllY 
(A) Milk purchased by a £ ed bY a tailor 
(B) 

. urcbas 
Sewing machine P 

(C) Both (A) and (B) 

(D) None of the above 

RR~furn it-e-~-m~~~? 
(A) l:fftcm:wGtrcfTT"~ 
(B) ~w~~~~ 
(C) (A)~(B)Gf.TT 

(D) .~-«~~ 
15. 

. d · · mination possibl ? In which market is pnce 1scn e. 1 

(A) Perfect competition 
(B) Monopoly 
(C) Monopolistic competition 
(D) None of the above 

~ ~ ~~ ~ tNcf i? 
(A) ~ Sl@41Mdl 
(B) ~ 
(C) ~Sl@41Mdl 

(D) 3q<f<ffi ~-e-~m 
-.:, 

16. Which of the following is not an assumption of law of demand ? 1 

(A) Price of the commodity does not change 

(B) Prices of related goods do not change 

(C) Income of the buyer remains same 

(D) Taste and preferences of buyers do not change 

RR~Md it-e-~-zjtlirTifi~"tl-llP«rr~~? 
(A) ~cf?t~m~ 

-.:, 

(B) ~~mcf?t-ttlffim~ 
-.:, 

(C) ~ cfiT 3IBf cfflT ~ t 
(D) ~mcf?tw.r~~~~ 
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--
17. The downward sloping PP curve is : 

(A) Convex (B) Concave 

(C) Straight line (D) 

~~ 31tt~ d~IG'i ~cfsfi~moT~: 
"\ 

(A) ~ (3"1<11G{) (B) 

CC) tft'dT WT (D) 

None of the above 
LO 
rr, 
~ 

~~) 
~ 

~94cfu~°'lt~~ 
" '.* 

1 

18. An annual statement of estimated receipts and expenditure of the 

government over the financial year is known as : 1 

(A) Budget 

(B) Income and Expenditure account 

(C) Receipts and Payments account 
LO 
M 

"° (D) Annual account M 
\if 

~~cflft~Wcf;R~ ~j/ll~d" ~ J:fttolflfcfil~ fs:cfi ~ cfit;ctli:11 i: 

(A) 
~ 

(B) 3Wr3fttar:f"&IBT 

(C) 511 fcall j ~ ~ "&IBT 
" 

(D) ~@of 

At equilibrium level of income: 
Lr) 

19. M 
\0 

(A) Y=S (B) C=S ~~ 

(C) Y=C (D) 
LI) 

8=1 t, 

3Wft~~1l"{: 
.ij: 

'.:l 

(A) Y=S (B) C=S 

(C) Y=C (D) S = I 
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20. Net Indirect Taxes is equal to : 1 
'd'es (A) Direct taxes - Subsi 1 . 

'dieS (B ) Indirect taxes - Subsi 
. t t~es ( C) Indirect taxes - Direc 

(D) None of the above 

~~cfi\~~t: 
(A) ~cfi\-~~t 
(B) ~cfi\- ~~t 

(C) ~cfi\- ~cfi{t 

(D) •~*~;rnf 
21. Fill in the blanks: 2 

(i) If 'increase' in demand equals 'increase' in supply, equ~librium price 

remains ___ . 

(ii) Free entry of firms into industry is the characteristic of __ _ 

competition. 

fufi~cf;r"Cfffl~: 
"' 

(i) ~lWT~ '~ ' ~~ '~' ~~'il.:r"ITT, "fil.cfiPIB __ ~! I 
(ii) ~~tfil!TcfiT~~ __ ~Rl<-11~a, c€l Rl~'l'4a, % 1 

22. State whether the following statements are True or False : 2 

(i) Production Possibility Curve is drawn on the assumption that 
resources cannot be increased. 

(ii) Production Possibility Curve is another name for country's demand 
curve for a product. 

~ fch Pii:.i Pt f@a ~ w ~ m "!'@d : 

(i) 3t91G-i ~cfsfl~lff.<@T"(f{fflr~!fcfi~~~~~ I 
(ii) 3f91G-i ~qsfl~~~~ ~cfitlWT~cfiT~";fllfi I 

"' 
23. State whether the following statements are True or False : 2 

(i) The sum of deviations of all values of X, from their mean is 
positive. 

(ii) The product of arithmetic mean and the number of items gives the 
total of all items. 

~Ni Pii:.iPtf@a ~w~m"!'@cf: 

(i) x t~m;ITcfiT~mur* Riii~-11 cflf "llllf tHk'lcfi mori 1 

(ii) BlITTR mur ~ 1:fGT c€t mr cfiT 1101-14,~ lNt lfGT t mrr t ~ mor i 1 
\.:I 
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24. State whether the following staternents are True or False : 2 

(i) Supply curve of a commodity bifts to the right when the price of 
related goods rises. s 

(ii) Supply curve of a commodity shifts to the left when its price falls. 

~Ffi f.i~R=ff{9a ~~~7:JT~: 

(i) ~.~~~~ -tt~cfsfizy:ff~f{9ecfia1~1 

(ii) ~cfrr~cfi'fm"CR~~ ~cfsfimitf3Wf{9ecfidl ~I 

25. Fill in the blanks : ~ 2 

26. 

27. 

(i) Saving curve originates frorn ~--- the X-axis. 

(ii) Consumption curve originates from ___ rua.s. 

fut;~~~~: 

(i) ~cfsfiX-~* ~~~mm% I 
(ii) ~qsfi--~~~%1 ~ M 

Which of the following stateme~ is Ture ? 

(i) When MC > AC, AC rise~ 

(ii) When AVC < AC, AC risei 

R~R=ff{9a 4~~-m~~%? 
(i) ~~"ffil"Rf>~~,ol~"ffil"Rf~%1 

(ii) ~~qftqdf(.111@"<3fu:@-ffilra,ol~ffil@"~%1 

Fill in the blanks: 
Lr) 
M 

(i) 

(ii) 

(i) 

(ii) 

~ 
___ measures th~ te of change of PPC. 

PP curve is ___ to~ e origin. 

~ 
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28. Fill in the blanks : representation f o supply 
Supply curve is the ----

fuf;~~qfir~: cfiT-----~t I ~ 

~~~ -
29. 

direct tax and indir t t 
Classify the following into ec ax : 

(i) Wealth tax 
(ii) Excise duty -ij 

Ri:.iRif©a cfit~q;{ ~ ~cfil ~~: 
(i) ~cfi\ 

(ii) ~~ 
~ 

30. (a) Define Private Income. 

~~~~~I 

OR_/~ 

(b) State whether the following statements are True or False: 

(i) Net factor income from abroad cannot be negative. 

(ii) Net Indirect Taxes= Taxes - Subsidies. 

~fcfi Ri:.i@f©a ~mfttmITffif: 
(i) ~~mll"Ffc@°@R ~cfi,:fi ?fiOllfWJfi ;ref"m~ I 

(ii) f.:lc@' ~cg= cg -~ ~614dl I 

31. Are the following included in the estimation of National Income of a 

country? (Yes or No) 

(i) Production for self-consumption 

(ii) Income earned by the branch of a foreign bank in India 

~ Ri:.i R:i f@a cITT ~ ~ cfit ~ wr t ~ ~ ~ 11 f?t ~ rcFi<IT ~ i ? cm m ;ref") 

(i) m-~t~ 3~1G~ 

(ii) ~-q-~fcmit tcfi cfif Wffl w ~ 3W-T 

2 

2 

2 

2 
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Fill in the blanks : 32. 

33. 

34. 

35. 

Demand for a commodity rnean d sire for a commodity backed by 
Power --- and th s e 

-- e Willingness to • 

fuf;~cfrr~~: 

~~cJrrlWT~ ~fmn(nr~~~tt ~~-- ~ci?t~m 
~---ffl~~~m, , 
Which of the following two alternat' ~ cause a shift in supply curve of a 

d. ? W ff 
com.mo 1ty . M 

(i) Fall in price of the conunodit ,t 
. y u, 

(ii) Changes m taxes on the conunoflity 

(iii) Change in price of related goods+;. 

(iv) Rise in price of the commodity 

f..l ~ R-t f@a ~ ~ m- "GI RP:fi~ ~ ~ ~ ~ cffll f@w;f,a I t ? 
\;) e,. 

(i) ~cfrr~"ij M{lcfl 

(ii) qfd""9'{cf)\-q qf{q<fi 
" 

(iii) ~~3TTcfrrcfillIB"ij-qf<c1J;r 
(iv) q"f<icfrr~"ij~ 

'v 

Fill in the blanks : 

LI) 
M u, 
C"'1 

___ goods are special type ot7i,nferior goods in which negative 

income effect is stronger than negativt-. 1 effect. 

ftm ~ cfIT -qfcf ~ : 4f:; 
e,. 

~ ~ W;fiR ci?t ~ ~ mat ~ Nl-icfil SftOll<:"Jicfi 3Wf ~ 
--- " --rTn~ " 

qfd" t *011<:"Jicfi SNTcf ~~~ma(~ I 
--- " 

State whether the following statements are True or False : 

(i) Very costly goods are called Giffen goods. 

(ii) Substitute goods is a goods whose demand moves in the same 

direction as the demand of give~ood. 

~ ~ Pt~ R-1 I"© a ·cti~.r.nr~ ~ m nwr : ~ 
(i) ~~qfd"3TTcfil r'lm-i ~~~ I 

(ii) ~ c1~~ ~~~~-Jr~mrr-ij *~~Jl i~mrr-ijtt-~ 
~cfiflfrl af~~d) i I 4t 

" 

2 

2 

2 

2 
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sECTIONB 
~B 

the average rn ks f 
36. The following table shows X of ar obtained by students o 

Section A and Section B of Class a school in a test of English : 2 

37. 

38. 

Section A Section B 

60 
Number of Students 

40 
40 

Average Marks Obtained ------ 50 

Calculate the combined average of both sections. 

~8~Rsa cti~cfil ~-tt.~~~~~cfir~xt~ A3fu:~B 

t~s:JU ~"51!Hictilcfil Ci~ll!.ll Q. -
3Rm1T A 
" 

~~B 
-

~cfit~ 60 40 

Jih:ra °S/7'-(ffcti 40 50 

(a) Explain what is autonomous consumption. 

fl4$il~Q, rcfl~~~mmi 1 

OR/~ 

(b) An individual receives income of~ 5,000. He paid income tax at the 

rate of 5%. Calculate his disposable income. 

"Q,cn"olffifi't 5,000cfil3Wf-sni:a-~i1~5%cfit~t~cfi\~I~ 

~ ~~ qf{cfii_vH ~ I 

(a) State any two assumptions of law of demand. 

mrrt~cfitcnJfGl 41~a,~ ~ I 

OR/~ 

(b) Explain 'income effect'. 
'~>llTTcf' fl4$il~Q, I 

39. What is Marginal Rate of Substitution ? Explain. 

~ cfit Bl1ltr ~ cRTT ~ i ? fl 4 $11 ~ q_ I 

2 

2 

2 
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a - if 3 

40. Fill in the blanks: 2 
{i) Supply of perishable goods. . (elastic/inelastic) 

{ii) 
IS----: h t . 

The elas~city of supply of goods whic are no penshable in 
short-run Is . (more/less) J1 

fuf; ~Rltt~ cb1~({ : tri 
(i) ~~ci@T~cfil ~ ~ I ('ali:!GIV~ffii:IGR) 

(ii) if \J ~ ---~~ -mt! I 3i~chl~ ~ ;r ~ ci@t ~ -tr 
(3lm/cfilD \J #: 

41. {a) From the Government Budget, hoW is primary deficit calculated ? 2 

~i~~~tfRT~~~i 7 
OR/~ 

(b) State two methods of quantitative credit control. 

qf{q101k4ch ~ f..14~01 -tl-"Gl"~~ I u, 

42. (a) Prepare a Production Possibility sched~- 2 

'({cfi 3('!1G-i ~f dl~chl ~ I M J 

OR/~ V 
Lfl 

(b) Explain with the help of Production P~sibility curve diagram, the 

growth of resources in an economy. # 
~ ~ * ~ -t)-~ cfil ~ lcf.f ~ cm> t {@If¾~ ~ ft(;14d I 

"B fl4$! l~Q_ I " 

43. Calculate National Income : 4 

~(000) 

(i) Rent lJ1 200 
M ·-

(ii) Profit cvs,ooo 
v 

(iii) Interest 1.11 100 
r". 

(iv) Compensation of employees ~,000 

(v) Mixed income of self-employed 12,000 

(vi) Depreciation 400 

(vii) Net indirect taxes 600 

(viii) Net factor income from abroad (-) 150 
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~~~T}Uf,TT~: 

~ (000) 

(i) fcf;oo 200 

(ii) ~ 8,000 

(iii) ~ 100 

(iv) ch4i-.llft:4l ~~ 3,000 

(v) ~Pi41~dl <tr~ 3lFr 12,000 

(vi) ~<:"(lijlij 400 

(vii) ~~qi{ 600 

(viii) ~~>ITHHc@~3TI<l (-) 150 

44. Explain the precautions that should be taken while estimating national 

income by expenditure method. 4 

~fcJft!-Wu$° ~cfif ~~~~~~~~ I 

45. Calculate arithmetic mean : 4 

Number of students Marks 

10 0-20 

20 20-40 

30 40-60 

40 60-80 

fcrmf'efcff cf! W§l.lT 3Tcn 

10 0-20 

20 20-40 

30 40-60 

40 60-80 
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ctr -Z TI 

46. (a) C 1 h £ 4 omp ete t e olloWing- t b a le• 
Output Total c t · . z Cost Average Variable Cost 

os Margina 
O 20 --1 10 --2 If'\ 8 ._,_ 

3 _ la 6 ( 1-

4 '1' 8 t:r , 
l 

3r-t1q~ ¥'ffl1Tn ~ffiTT?r 
~r:rft:c((ffffi17o 

0 20 --1 10 
2 8 

3 6 
4 Ul 

8 M 
\0 

OR/~ 
(b) Explain the relatio, hip between Average Variable Cost and 

Marginal Cost with l~ help of a cost schedule. 
~ ~ a lklc:fil ~ {i~r~~ I ~ ~ mcrcff &Tif 3fu: ~ ~ t ~ m 

{1Ji$1 l~Q, I 

47. (a) Show situation of under employment equilibrium with the help of a 
diagram. 4 
~ (@f¾::t c€t {i~llfdl tl ~ UWITT: "tt ~ w.mf ~ I 

\.') 

OR/~ 
From the followfmg information calculate consumption 
expenditure: ~ 
MPC=0-75 M 

(b) 

Autonomous consum;ftion = ~ 100 

Y =~5,000 r"-" 
4 

Ri:.ifB.lf@a ~~~cxmcfif qf{c:fi~H ~: 

Bllffil~>fqffi = 0-75 
" 

~~=~100 

311lr (Y) = ~ 5,000 
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I] -rs ZSWO l ~ 

48. (a) 

(b) 

49. (a) 

. of fiscal defic·t 
Explain the meanll1g 1 · Bow is it calculated? 

{l~chltftll iTIZq;f 3li~ I~~~~~~? 
ORI~ 

Distinguish between Capital e}(J)enditure and Revenue expenditure 

in budget. 
~~~~ 3fl{~cxmt~ ~~~ I 

, Price lnde:ir . Calculate Laspeyres 8 · --
Base Year Current Year 

Price Quantity Price 
Commodity (t) (t) Quantity 

A 10 60 20 90 

B 20 75 30 80 

C 15 20 40 60 

3mm"cN "fflc[fi 
C\ 

~ ~ 
qRf 1lffl 1Tf;f{ 

" ({) (t) 

A 10 60 20 90 

B 20 75 30 80 

C 15 20 40 60 

OR/~ 
(b) Construct Consumer Price Index for the year 2010 taking year 

2005 as base. 

Price Price Weights 
(2010) (2005) 

A 50 30 20 

B 20 10 30 

C 30 20 50 

4 

6 
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p 

50. 

qlf 2005 cfl1" ~ l:fT,-~ -~ ~ tR,lchi~ tfi1" 9~cfiff., 
~ I "fl\ qlf 2010 cfiT Jlf~l'1\II c-. 

(2010) - ~ 

A 50 30 ~ 
B 20 10 
C 30 20 

=t:1= 

In a dance competition five fi li oiven following ranks by two . d ' na sts were o· JU ges: 

Dancers 1 2 

Judge A II III 

JudgeB III II 

3 4 

IV I 

V I 

5 

V 

IV 
If) 
M 
U) 

Calculate rank correlation. M 
~ 

~~ S1@4lrid l 11-, ~~~>ik141ril1Tcfil~~IDU ~~fB;tfuia ~ ~) ~~: 

• 1 2 3 

~ A II III IV 

~B III II V 

4 

I 

I 

5 

V 

IV 

~ 

Lt') 
M 
u, 
M 
~ 
IQ 
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